SmartM3
Adding a 2-digit number and a 1-digit number (with
carrying)

Grade 3 Addition Worksheet
Date: Name:

LET'S MAKE ADDITION OF NUMBERS FUN

What is the sum of the following numbers.

1. 55+5- 1. 448
2 T8 4- 12, 1949
3. 8549 13, 18 +4-—
4 a1 9- 14, 21+ 9-
5. 2+48=| | 15,  57+5=
6. 3348 16, 16+ 4 —
7. 15+6= 17 584 5=
S T84 6 18, 6947
9. 16+ 7— 19, 66+ 6—
0. 8348 20, 7249




" SmartM3thz
Adding a 2-digit number and a 1-digit number (with
carrying)

1. 55 +5 =160 | 11. 4+8=[12]
2. 78 + 4 =82 ] 12, 19 +9—=[28]
3. 85 +9 —[ 94 | 13 18 +4—=[22]
4, 41 +9 =[50 | 14. 21 +9 =30 |
5. 2+8=[10] 15. 57 +5=[62]
6. 33 + 8 =[ 41| 16. 16 + 4 =1[20 |
7. 15+6—[ 21| 17. 58 +5=[63 |
8. 78 +6 =] 84 ] 18. 69 + 776 |
9. 16 +7—[23] 19. 66 +6—[ 72|
10. 83 +8 —[ 91 | 20. 72 +9 =81 |

Answer Explanation: Remember that;
Regrouping (or carrying) in addition means, if I add two numbers and end up
with a 2-digit number, then I have to put the digits in the right place value.

For example: What is the sum 85 + 9 =

Add the ones Regroup Add the tens
(or carry)

Therefore, 85+ 9 =



